4 Foundation Worksheet )
[ ]
3:05 | Grouping Symbols
kName: Class: -
Examples
Remove brackets.
1 —2(3x—7) 2 8(2p+3¢) 3 a(2a—>5)
=-2X3x—=-2X7 =8x2p+8X3q =ax2a—-ax5
=—6x + 14 = 16p + 244 =2a* - 5a

1 Simplify.
a 3xX4y
¢ 10X 3a
e ¢X3c

g 2xx—7
i 2mX5m
k s5ax7

2 Complete.

a 32m+5)=3x2m+3X...

¢ aba-1)=ax...—axl

e 2(m+5)==-2Xm+-2X...

3 Remove brackets.

a 5(c—4)

c q2q-1)

e —2c+5)

g 6(4n—1)

i —7(2g-3)

k 4x(2x—3)
5(2x—11y)
3¢(2c-1)
5(7q +4)
By(y —4)
12(3m + 5n)

n 0o O

<

Answers can be found in the Interactive Student CD.
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—4 X 6p
5 X 4m
5% -3
-7 x-1
-4l x !
-3 X0

b 483x—~7)=4%x3x—...%X7

10(c—~3d)=10xc—-10X% ...

f mBm+4)=mXxX3m+mXx...

> ™ o O

—

10

x(x+5)
8(2y - 3)
r(r+3)
2m(m + 3)
y2y +7)
10(4a + 3b)
=3(6t+7)
—(4k +1)
—x(4x - 7)
2n(5 - 3n)

© Pearson Education Australia 2004.
This page may be photocopied for classroom use.



3:.05 Grouping Symbols

1 a
g
2 a
3 a
g

12y
-14x

5
5¢-20
29n—6

m 10x - 55y

s

8y?—32y

b

h
b
b
h

=3

—24p

7

4

X2+ 5x
2m? + 6m
-18t-21
10n — 6m?

30a

10m?

Sa

24° - q
—l4g+21
6¢%— 3¢
36m+ 60n

20m e 3c¢?

~412 % _35a

3d e 5

16y — 24 e =2c—-10

2y2+ 7y k 8x?—12x
—4k — 1 q 35q+20

-15
-18

4

r+ 37
40a + 30b
—4x? + 7x



